
ROOF RACK
USER MANUAL

We continue to be committed to provide you tools with competitive price. "Save Half", "Half
Price" or any other similar expressions used by us only represents an estimate of savings you
might benefit from buying certain tools with us compared to the major top brands and doses
not necessarily mean to cover all categories of tools offered by us. You are kindly reminded to

verify carefully when you are placing an order with us if you are actually saving half in
comparison with the top major brands.



- 1 -

Have product questions? Need technical support? Please feel free to
contact us:

CustomerService@vevor.com

NEED HELP? CONTACT US!

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.

Roof Rack

User Manual

Model: BYCD-002

mailto:CustomerService@vevor.com


- 2 -

Safety & Warning

 Read and understand this entire manual before assembling, installing,
operating, or servicing this product.Failure to follow these warnings
and instructions can cause death, personal injury or damage to
valuable property.

 Adhere to all Department of Transportation (D.O.T.) requirements
when using this product. Use ropes and tie downs to securely hold all
cargo in place.

 Do not overload the Roof Rack. Never exceed the maximum weight
capacity of 200 Lbs.

 Make sure the vehicle is in a safe place for loading ladders and other
cargo. Make sure the vehicle’s engine is OFF, with parking brake set,
before loading or unloading the Roof Rack.

 Do not use to hold or restrain human or animal weight in any manner.
 Before and after each use, check to make sure that all hardware is

tightly secured. Regularly inspect for damage. If fraying or distortion is
found, immediately discontinue use.

 Use common sense when working. Stay alert and concentrate when
setting up and using the Roof Rack. Never work while under the
influence of alcohol, drugs or medications.

 While assembling and using the Roof Rack keep work area clean and
well lighted. Keep spectators and children out of the work area.

Main specifications

Model Series BYCD-002

Maximum Load Capacity（lbs） 200

Gross Weight(kg) 18.5

MEAS(mm) 960×770×170



- 3 -

Parts List

Installation Guide:
Step 1
Insert the two casing (11#) to front basket (#1) .Slide the rear basket (2#) to
front basket (#1) together. Attach the side plates (9#) with round head
hexagon bolt (6#), flat pads (8#) and lock nut(10#) shown as figure 2.
Position and basket on the roof bars of the vehicle.

Item Name Qty Specification

1 Front Basket 1
2 Rear Basket 1
3 Basket Saddle 4
4 Basket Top Plate 4
5 U-bolt 4 M6×17.8×6 8
6 Round Head Hexagon Bolt 4 M8×40
7 Plum Nut 8 M6 37×23×23
8 Flat Pads 8 M8
9 Side Plate 2
10 Lock Nut 4 M8
11 Casing 2
12 Cargo package 1

figure 1



- 4 -

Step 2
Snap the saddle (3#) onto the basket, shown as figure 3. The saddle must
sit on the cross bars of the vehicle. Secure it with the U-bolt (5#), Basket
top plate (4#) and plum nut (7# ) shown as figure 4.

]Note: Always position the saddle away from the center for maximum
support shown as figure 5.

figure 2

figure 3

figure 4

figure 5



- 5 -

Manufacturer: Chuzhou Baiyi Protector Product Co.,Ltd
Address：No.19, Yanggang Avenue, Shitan Industrial Park, Cross Town, Quanjiao
County, Chuzhou City, Anhui Province
Importer: WAITCHX
Address: 250 bis boulevard Saint-Germain 75007 Paris
Importer: FREE MOOD LTD
Address: 2 Holywell Lane, London, England, EC2A 3ET

Made in China

REPUK
EUREP UK LTD
UNIT 2264, 100 OCK STREET, ABINGDON
OXFORDSHIRE ENGLAND OX14 5DH

REPEC
EUREP GmbH
Unterlettenweg 1a, 85051
Ingolstadt, Germany





Support and E-Warranty Certificate
https://www.vevor.com/support
Made In China

https://www.vevor.com/support

	 Safety & Warning
	Read and understand this entire manual before asse
	Main specifications
	Installation Guide:

